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He gives the shame and degradation immediately - 752 3012391 D22

Overview

The ®Xn>12 teaches regarding a 7inon that even though that regarding the 01p of fifty
0°%pw, he pays only after he refuses to marry her, nevertheless he must pay 2391 nw12
immediately. n1901n clarifies a possible misconception.

Moo responds to an anticipated difficulty:
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Even though 23521 w12 are compared to 81 (so seemingly they should both be
due at the same time), nevertheless that comparison is only regarding the rule that
to the person whom one payment is given (for instance 01p), the other payment
(9"M2) is also given -
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However there are cases where he is completely exempt from ®ip, but
nevertheless liable for 5''ya.

Summary
01p and 82 are compared regarding that they must be given to the same person, but

in other respects they are not compared.

Thinking it over
Is there any argument to be made that even if we know that 0ipn Mwow NMMmpn v
5"23 2m, nevertheless it is still logical to say that the payment of 8™2 should be

concurrent with the payment of 01p?

! See later 2,n, where X271 states, '1 72°5W NRIT 702 DWAN 7IWIT *ARY 7Y 20w WK I (93,20 [RXN] 2°727) KIp MK
0391 N2 KI°RT 9991, See *"'wA there 271 7'"7.

2 This means that 037 and ™3, must be given to the same person (either the father [or his heirs], or the daughter). See
later 2,8n. See also w* 1"7 2,n% '01n (TIE footnote # 12).

3 For instance if he is 771, where 7109 01p2 77, but he liable for 5™2 which is 7wn. See ‘Thinking it over’.

4 Therefore it is certainly understandable that the timing of their payment can be different.
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